Im 3 U R

(2025F % 30#7)

T R EREELERE 202558 H6H

It 3 Ti A1 X 0 P i

8H 6 HREMATEERAMME, EAT VA EMAHRE
WA A I A B AR Rt aat, A (2025 4 7 A 30
H—8 A 6H), ZTERMNNREHRHMTHNELEEBATF
R, ERE, BMEE, RZATF, MHEEFERTER, £4
HENMBKLZKD, LRKILKAR; FEENHIT L& F KRN
wE R, B, K. ERNEE NG LK, HR M
MHEHENMETE®; 2T AKEANBERFTLR TEHENHBE
ATH LT,

—, FEREEFEHNIE
(—) RbMREEELEZE

8A6HaWmEL (F—)  BXk (ZR) . Lk (—&
k) . AEW (FRk—FEH) WFREENBEL25 A 1.92



T/ 297 T/, 163.08 /A (5 H) L 5938 w/AR (S A,
B B a5l B 0.46% . B 0.77% . Bk 0.52% . _F ok
1.31%.

SHoBWREM (F—) . K (ZH) . fotdm (—&
Wk) . AEwm (BME—ZFH) W FHEENHE 25K 1.82
TG/T . 244 T0/T. 15937 Ju/AE (5 ) L 61.09 7u/48 (57)
B AT B FF . T 0.64%. #FF. £k 0.23%.

(=) AXHRFLEPBES

SHeHATHEN (FEW) . #W (AW ) FHEEN
¥ 7 Hy 14.98 T/ . 12.73 o/, B BT 5] B 0.71%.
% 0.37%.

SH6 HWRXEN (BHEW) . #W (AW ) FHEEN
%A 16.73 T6/ . 1451 6/, B BB At 7] Bk 1.11%.
% 0.09%.,

I 3 1l % R AR E 35 B cso0swie




TG/, 35.00 7T/, 9.34 0/, B E#IATH R T 0.03%. T
# 0.65%. T % 0.50%.,

SHO6BEWRFW, FW., HAWTFHEENEL N 42.79
Jo/Fr . 36.00 T/ T, 1323 /T, FE BB B K 0.67%.,
T B 0.59%. T % 2.02%.,

AWM NET R, 8 A 6 B AREHEMN ER MR
MR RAFeE 8, AW M 7.00 T/, B BRI T 2
1.13%, MR 1:5.83, A5 FHMAEERE THRXHE,

I &3 i A RS 35 B (so0me/5m)

8.2

7.8

7.2 | e ”%_«Wf '_\\

6.8
6.6
6.4

L T R R R v R S o R T o A B S ST S

— = &5 5 A5 N5 S A DL Ly L LDy R R g IS s L Doy

(=) RENMBEHKSZS, HHDie Lk

SHOHAW 2MEBEEMBTHS B, FHEENK 244
T/, B MK B 1.44%, MAETSHRVAENZE, £ X
1.23 7o/, L 7.06%; # 3 1.65 T/, £k 8.81%; 3 2.41
T/, E¥k 10.12%; #JK 2.20 T/, Lk 26.88%; AR 2.33
T, T 5.11%; K3F 4.67 /T, T 7.00%;

8 A 6 HT X 12 Fraf M4 8 K 4 %, FHEEMEN 2.35



T/, B BT B 3.39%., MR R BRI B A E, %
226 JL/)T, LK 28.49%; #IN 243 T/T, LK 26.79%; F %
1.56 JTT/fr, L 22.53%; #{# N 1.22 T/, T% 13.14%; &
213 TU/T, Tk 9.13%; K 4.68 Tu/T, T 5.51%.

e 3 TSI AL 2 B Gusonstd

3.70

.50 —p— i
3.30 g
i — T
2.90 =k
s a8
2.50
2.30
2.10
1.0
1.70
1.50

:Emmwﬁﬂmmmﬂmmmggmmohe.—qmzﬁmmﬂgmmot_n.
= A L e O - S ~ S~ G - = =~ o L e o e - T B~~~ S -
L e s Bl B S i B s T SR 15 B, Sl S S SR~ e S Bl S £ B = S T« M. T S, S oS S, S S S - -]

(W) BEH& T

8 Fl 6 HaWHETHEENMEN 3.47 T/, B L#MIL
T % 2.62%,

8 A 6 HWXAG&EFHEEMHEN 340 T/, B LB
T 2.46%.

It 393 i XS B s AE A B seso0md

mmmmmmmmmmmmmmmmmmmmmmmmm

e I s T T T s T T B T T A e B Bl B T B e e ST B Bl e SO S e e B




(&) KEHBIEES

SHO6HAWER, & FEWNEHEENHKLF K 530 T
/. 3346/, 2.82 U/, B BB B 1.07%. Bk
1.12%. T 3.86%:,

SHO6HWXER, B, FEWTHEENHKLH K 5.69 T
/T, 3.29 TG/, 3.55 U/, Bl BB B T 0.99%., T Bk
3.36%. £ 4.46%.,

'Iﬁﬁ}fﬁﬁ%ﬂ]ﬁri%@ (FT/500%)

3.70
250
2.30
240
290 g
0
2.50
2.30
2.10
1.90
170
1.50

—_—\

BEXR: 8 H 6 H 5000-5500 K + &M FH 4 4 594.33 0/
i, B BB T B 2.09%; f B E RS 8 1173.33 JU/vE,
bt b b Bk 4.45%; SRR AR 1162.40 T/, [F B
AT 0.51%; — 26 & 44 1380.00 T6/#6, 8] B HAXE
b kK 2.22%,

K. 8 F 6 B @A £ AR 42.5#F H 14 4 260.00 70/
o, B B S T



4 :8 H 6 H M4 %A+ HPB300 -4 & 3230.00 J6./7
[B] b 35T H T K 1.82%; %% 3% A 4k 18 S 7 3070.00 TT/7E
& b %t K 0.99%

A, R 8 A6 H2ERM., 95 FRM. 05%m-T
HEEMN 27 K 9620.00 TL/ . 10164.00 L/ . 8050.00 TL/
i, [ BT A B 0.99% ., bk 0.58%. bk 0.63%,

= EEQ RAEIERNE
BEMH: A 6HATER —MHHEAR. 2TEERERT
WA H Ky 2.58 To/SL K. 3.28 TU/L Kk, [E b H A b
j:_lLO
BeRWA: 8 H6 HamER 4K, EMHEREAK. 3

B BB A Fh B K 3 A 4 B R 2.47 T/ 7 K, 2.73 J6/aC
k. 412 T/ k. 28 /AL ok, B _E AR A EFF

bt SHOHATER —fAfte . Bl —ffte, T
A — gt R — At IR 8 0.477 TT/E L 0.531
TO/E . 0.508 TU/E . 0.500 TG/E, E L # AR,



2R R R R EE s

1810
1710
16.10

1510 16
1549 1550 1578 - [
B3gs B4 15151527 1542 1593 18301550 P 1541
1410 - 1497 : 1505 1508 18
B30 s 100 MR 0 1050149 145 W70 SIS 1474 165 144
B w3
1210

1L10 - EE
10.10

910 Bt
810
10

6.10
485 4.85 4.83 4388483
510

55, 300 365 168 388 380 374 %@9 362 350 16 38 11 150 365 358 445 -

410595 295
310
20 g
L10
010
&Q’Q@i& gz;&s?‘b ‘\?& §ﬁ¢e© ,3:"& ﬁi@oﬁ ‘?’\q‘?:@& && @0&\&&\'0\% & $©‘$¢i¢\ &,&0 &0&\&&@@&,@@ Q:& @0&\&&_&@ Ry \%@

330 321 34 318 33 317 1 333 334 34

A B R R KRR

WIE'GT

P ——
BST
¢ — %S
p — e
Myt
M oyerT
%50
L]
YEED
1 HOF'D
YZED
1 w%EZ0
%Ez'0
| %EZD
| %ADD
| W00

-16.00%
-19.00%
-22.00%

-25.00%




sy iss e (i, X) BRIk

Bt L

HIRAH: 202558460

| B i W RE | BS | EM | MR | B | WK | R | B0 | S | wB | wm | owe | me | &R | kT e | g5 | o8 TS
1 i o JL/AOOTL | 2.20 1.78 L. 40 2,00 1.77 1. 89 2.04 1. 80 1.70 2. 158 2.20 2. 20 1. 87 1. 80 2.20 1. 90 2.07 1.92 1.81 0. 46%
2 FiE =g /5007 | 2.80 2. 80 2. 68 3.00 2.59 2. 83 3. 80 3. 80 2. 50 3.48 2.98 2. 60 2. 75 2. 80 3. 50 2.15 3. 38 2.97 2. 85 0. 77%
3 i bt JL/R00FL | 2. 60 2. 50 2. 00 2,00 1. 50 1. 50 2. 50 2. 50 2. 00 2. 50 2.00 1. 80 1. 10 1. 50 2. 50 2.25 2.33 2. 06 2.04 0. 80%
4 | BRI i3 JL/AO0FL | 3. 60 B. 88 4, 90 3.00 4.30 6. 70 7.38 4. 50 7.00 4,90 5.80 4,78 4.90 4. 80 8. 00 4.25 7. 67 5. 49 5. 49 -0. 13%
5 £y | deihasEestnl | TR 3.90 3.00 3,32 3.50 3.56 3. 00 3.25 4. 00 3. 00 4. 58 1.00 2. 30 3.15 3. 80 4. 00 4.50 3.35 3.54 3. 56 -0. 44%
6 |t — AR SL/SF | 16500 |169.00 |159.90 |145 00 |169.90 |169.20 |160.00 |168.00 |155.00 |169.90 |158.00 |169.80 |148.00 |168. 00 |168.00 |161.20 |168.48 | 163.08 | 162.24 | 0.52%
T | XEH | WmE-EEY SL/SF | 75.00 | 69.00 | 43.90 | 75.00 | 51.20 | 50.63 | 60.90 | 60.00 | 52.00 | 69.90 |59.90 |68 80 |46.90 | 50.00 | 6500 |57.30 |53.96 | 59.38 58. 61 1.31%
5 ] FHEBET 4 | T/A00T | 690 7.30 7. 30 7.00 £. 90 7. 15 7.30 7. 10 7.00 7. 50 8. 00 7.30 9. 00 8. 00 8. 00 .20 7. 40 7.55 7. 55 0. 02%
9 FAH | HLAATEHMI | FL/E003 | L1056 L1o L 10 L.17 1.20 L oo 112 115 1.09 1.34 1.10 L. 1o 110 L.20 L.05 117 1. 40 114 113 0. 93%
10 |ERELyr 6. 57 6. 64 6. 64 5.98 5.75 7.15 6. 52 6. 17 6. 42 5. 60 7.27 6. 64 8. 18 6. 67 7. 62 7.86 5. 29 6. 60 6. 66 -0. 90%
11| #Em. FEAZTEN | FL/5007 | 12.50 | 14.60 | 16.90 | 11.00 | 17.90 | 14.26 | 16.99 | 14.00 | 12.00 | 14.90 |[16.80 | 16.58 | 16.80 | 16.00 | 12.00 |16.49 |14.90 | 14.98 14. 87 0. 71%
12| #Em; heEmZT BN | /5007 | 1150 | 13.80 | 14.90 | 1L.00 | 13.90 | 13.60 | 12.00 | 1200 |11.00 |1L.90 |[lL.50 |13.38 |13.80 |13.00 |12.00 |[13.75 |[l13.40 | 12.73 12. 68 0. 37%
13| 8 BTATEN | /5005 | 33.00 | 34.00 | 28.00 | 3L.00 |3L.90 | 28.33 |34.00 |30.00 |33.00 |38.00 [58.00 [33.00 |35.00 |38.00 |40.00 [29.25 |[48.00 | 35 50 35,51 | -0.03%
14 | %@ | #HEEBTEH | /6007 | 32.00 | 33.00 | 31.00 | 30.00 |3L.00 |30.33 | 32.00 |30.00 |33.00 |40.00 |[36.00 |3500 |35.00 |40.00 |45.00 |[3L.75 |H0.00 | 35 00 365.23 | -0.65%
15 | =&py HEWTEY | L/500R | 1L.og | 1200 9.80 | Ll.oo | 9.40 8. 99 1L.o¢ | 1000 | 7.00 |12.00 |[lL.oo | 7.80 5. 80 9. 00 8. 00 8. 40 6. 49 9.34 9. 39 -0. 50%
16 | W& TEH JL/500F | 3.33 3.39 3,39 3.50 3.05 3. 21 3. 20 3. 50 3. 50 3. 69 3.28 3. 49 3.15 3. 80 3. 80 3.88 3. 78 3. 47 3. 56 -2, 62%
17 | RAEF il — JL/R00FL | 0. 80 0. 99 0. 89 L.20 0.75 L.23 100 0.79 1.20 0.79 0. 98 L. 30 0. 69 L.00 L. 00 L. 00 1.28 0. 99 0. 99 0. 5L%
15| x£8 il — % JLA5007 | 113 110 119 1.50 1.00 Lz2 1.00 119 1. 30 0.99 1.18 L. 50 0.79 L. 50 L. 50 1.48 1.28 1.23 1. 15 7. 06%
19 | FLL#H i — R FL/500F | L.78 1. 899 L. 59 L.50 2.00 2. 02 1.49 1.49 2.20 1. 59 0. 89 1.99 1.45 2. 50 2. 50 2.28 1.98 1.84 1.78 3. 75%
20 | B i — R SL/500% | 2.30 2. 50 1. 99 2.00 2.12 3. 16 1.48 1.99 2. 50 1.29 1.88 2. 50 1. 58 2. 50 2. 50 2. 58 2. 58 2. 20 1.74 26. 88%
21 | A& ik — R JL/B00FE | 2. 50 2. 49 2. 29 2.50 2. 10 2. 72 1.96 2. 99 2. 50 2. 59 1.98 2. 00 1.85 2. 80 3. 50 2. 80 2. 98 2.51 2. 45 2. 22%
22 | #E b HibE— R JT/B00% | L33 1. 49 L 49 L.50 0.85 L. 66 1. 59 1. 59 1. 50 0.99 1.38 L.99 1.15 L. 30 2,00 L. 80 0. 98 1. 45 1.47 -1 73%
23 | WFE i — R SL/500% | 1.80 1.99 2,89 2.00 2.47 2. 66 2.49 1.99 3. 00 1.99 1.88 1. 90 2.45 2. 50 3.00 2.80 2. 98 2.41 2.18 10. 12%
24 | AR ik — R JL/500F | L. 50 179 L. 59 1.80 112 L.g9 2.19 1.29 1. 50 0.99 2.00 1.38 1.25 L. 80 2. 00 1.95 1.98 1.65 1. 52 8. BL%
25| = HibE— R JL/B00FE | 2.24 2. 28 L. 99 2.00 2. 10 2. 59 2. 49 1.99 2. 50 2. 59 2.28 2. 88 2.25 2. 50 2. 50 2.50 1.98 2.33 2. 46 -5, L1%
26 | RE i — R SL/500% | 1.60 1.49 179 1.50 0.85 L33 2.00 1.99 2. 00 2.39 1.98 1. 80 1. 85 2. 00 2. 50 1. 80 1.98 1. 80 1. 86 -3.23%
27 | A& i — R L5007 | 4. 46 4.00 4,99 3.00 3.30 4. 40 5. 00 4. 99 5. 00 4.90 5. 58 4.99 5.23 4. 50 5. 00 5.00 4. 98 4. 67 5.02 -7. 00%
28 | £ HibE— R JT/500F | 5.50 5.99 599 6.00 5.00 6. 16 6. 00 6. 99 5.00 6. 50 6.98 5.99 5. 85 .50 6. 99 7.80 5. 98 6. 18 8. 23 0. §3%
29 | TH i — R SL/5007 | 5.84 5.00 3.99 4.50 7.42 5. 16 8. 99 4.99 6. 00 7.90 4.98 4. 80 2. 80 3. 00 4.00 4.00 6. 80 5. 30 5. 25 1.07%
30 £ i — R L5007 | 3.20 3.50 2, 59 3.00 3.94 3. 83 3.89 2. 59 3. 50 3.90 2.98 4. 00 2. 80 3. 00 2. 50 3.50 3. 98 3.34 3. 30 1. 12%
31| BE il — R FL/B00T | 3. 46 2,489 2. 29 2. 50 2.52 2.99 2. 50 2. 39 3.30 2.29 2.98 | 2.99 2.88 3. 00 2. 50 3.80 2. 98 2.82 2.93 -3. 86%




I 73 T X B RS v ol AR B R

f 2
HEIREEA: 2025 8H6H
. L 2 B R S = FEb 15

wolwman| e | e SESSEOZLERC XD TERD M0 W) G MR meo
1 Ty 5 JG/5007 1. 46 1.50 1.99 1.79 2. 00 2. 00 2. 00 1.82 1.82 0. 00%
2 HEAK -7 76/50075% 2. 50 2. 50 2.39 2. 49 2. 00 2. 59 2. 58 2.44 2.45 -0. 64%
3 =3 il S R JG/ 5007, 1. 50 1.25 1.80 2. 00 2. 00 2. 00 0. 80 1.62 1.62 0. 00%
4 b 1% JE/500 %% 5. 00 3.80 4.39 4. 59 8. 50 6. 50 3. 58 5.19 5.19 0. 00%
5 241y gl ErE250ml TG/ 5. 00 5. 00 2. 00 3.00 4. 16 2. 00 5. 50 3. 81 3.81 0. 00%
6 JE e v —ZRAm e Ju/5 7t 145. 00 150. 00 159. 90 165. 90 169. 00 159. 90 165. 90 159. 37 159. 37 0. 00%
7 PN Fies — g J/5TF 45. 00 46. 00 59. 90 67. 90 69. 00 69. 90 69. 90 61.09 60. 94 0. 23%
8 A4 FEGE I T iy JE/5007% 7.00 7.08 —1.13%
7 K L2 7 2 J6/500757 1.20 1.18 1.69%
10 | FORREEAT 5. 83 6. 00 —2.78%
11 P A P AT JG/5007%% 11.00 13. 50 19. 90 15. 90 18. 90 17.99 19. 90 16. 73 16. 54 1.11%
12 3t P W2k 2T JG/ 500755 10. 50 11. 50 15. 90 14. 90 16. 90 15.98 15. 90 14. 51 14. 50 0. 09%
13 4=y T P FEEAT JG/ 5007, 32.00 33. 00 39. 90 49. 90 58. 00 53. 90 32. 80 42.79 42. 50 0.67%
14 A e 2 FEAT JG/5007%% 30. 00 30. 00 33. 90 36. 90 45. 50 39. 90 35. 80 36. 00 36.21 —0.59%
15 A ) SRRl i JG/ 500755 7. 00 7.50 18. 90 11. 90 15. 50 17.99 13. 80 13. 23 13. 50 —2.02%
16 A EE FEM JG/ 50073 3. 20 3.30 3.59 3.59 3.39 3. 58 3.18 3. 40 3.49 2. 46%
17 KHER i — 2% TG/ 50075, 0. 60 0. 60 0. 89 0.95 0.75 1.28 0. 98 0.86 0.84 2.72%
18 ESS1 B — 2% I/ 50075 0. 90 1. 00 1.89 0.99 1. 08 1.28 0. 98 1.16 1.12 3.97%
19 7 £ A B2 JG/5007%g 1. 30 1.50 2. 69 1.59 1. 38 2. 99 1. 38 1.83 1.86 —1.46%
20 E=JIN i — 2% JG/ 5007, 2. 00 1.80 1.79 2.59 2. 49 3.99 2. 38 2.43 1.92 26. 79%
21 I8 S e — 2 I/ 50073 2. 50 2. 60 2.99 2.98 2. 98 2. 99 2. 68 2. 82 2.70 4. 23%
22 RN B E— 24 JE/500 %% 1. 20 1.20 1.19 1.19 1. 68 1.18 0. 89 1.22 1.40 -13. 14%
23 THIZE e — 2 I/ 50073 2. 00 2. 00 2.19 1. 39 2. 68 2. 99 2. 58 2.26 1.76 28. 49%
24 e B2 76/ 50073 1. 40 1.40 0.99 1.79 1. 38 1. 99 1. 98 1.56 1. 27 22. 53%
25 A HTiE— 2% TG/ 500755, 1. 50 1. 50 2. 69 1.89 1. 98 2. 99 2. 38 2.13 2.35 9. 13%
26 KA i — 2% TG/ 50075, 1. 20 0.90 1.19 1.79 1. 68 1.99 2. 58 1.62 1.55 4. 14%
27 e 2% J6/50075g 4. 00 3. 80 6. 99 5. 39 2. 98 4. 99 4. 58 4. 68 4.95 —5.51%
28 e W2 JG/5007%g 4. 50 4. 80 6. 99 5.90 4. 98 6. 90 4. 98 5.58 5.50 1.35%
29 R HiE— 2% JG/ 5007, 5. 00 5. 50 5.99 4. 90 6. 90 4. 99 6. 58 5. 69 5.75 —0.99%
30 A4 B — 2% JG/5007%g 3. 30 3.20 3.99 2.99 2. 58 3. 99 2. 98 3.29 3.40 3. 36%
31 T B — 2% JG/ 50075, 3. 30 2. 30 4. 99 3.39 2. 58 3. 68 4. 58 3.55 3.39 4. 64%




I 3 T W o A A B 0 R

B 44 3
ERAW. 2025E8H6H
5= W5 ] o Feb B 25 2% B | CFHrE | RIS BREE (E%) % 1
1 R A (R 5000-5500 4 F I6/ W 594. 33 607. 00 -2. 09%
R . .ol %,ﬁ- AT Bl ,
2 | {REUEAELE CREED 5000-5500k Jo/ME | 1173.33 | 1123.33 4. 45% ﬁ@'“g“"f“ “j‘“i@{&
RS T=
3 R AR (PE ARG 5000-5500K F o/ | 1162.40 | 1168.40 -0. 51%
4 E R — IR EE g6/ | 1380.00 | 1350.00 2.22% — R e
5 Ko WAl RN Eh K Ped2. 5% | o/ 260. 00 260. 00 0. 00% e T\ oA
6 LR 28 FHPB300 6/ | 3230.00 | 3290.00 -1. 82% it R 5 AR A (B N 300MPa
7 4k S Ra ke VAR 6/ | 3070.00 | 3040.00 0.99% T AT 8%
8 925 J6/ | 9620.00 | 9564. 00 0.59%
TR
9 955 6/ | 10164.00 | 10105. 00 0. 58%
10 L8 05 /M | 8050.00 | 8000.00 0. 63%

_10_




Wit Wi HgEL (i X)) 2 Fghl R i IR

HIEOH: 202558860

| e | s MOEW gn | mm | wm | &9 | 6% RW | A0 | 2% | 5B | 9m | WB | BB | KR | AT | BB | 5T | PHGH EWAS| FH)

1 ER—Y W HA (&) UF 2.88 2.70 el 2.70 2.70 2. 65 2. 70 2. 70 2.70 / 2. 70 2.70 2. 70 1. 62 1. 62 2.46 2.70 208 2B 0. 00%
T BRI 28-423 K (F) LR 317 207 3. 43 20T 2007 2492 2. 97 / 2. 70 / Ze o /. AT / / 2.71 2.97 Fa0B 2298 0. 00%
T gg f;;;z ER=1 42 F AL E 3. 74 Faiih e L Bl il gl 3. 44 el / 2.70 / 2k il / (3l 110 / / oA Al 3.43 3. 43 0. 00%
T RFHEES 2. 88 7 Sl 2.70 2.70 2.65 2.70 2. 70 2. 70 2. 70 2. 70 2. 70 2. 70 7 / 2.46 2.70 2l e 0. 00%
T EER R 3.70 4. 64 3.98 348 3. 90 2. 84 4,15 200 2Ryl B 20 .t 1.62 A 299 4. 16 J.28 3. 28 0. 00%

6 BR—Y T8 AR/F/ARLT 2 ) 2.40 1. 80 1. 60 2. 60 2.40 2. 30 3.12 1. 80 i 2. 60 / 2. 70 3.20 3. 00 255 o 2.47 2.47 0. 00%
T ER-H 7.8--12. 9% FA/F/H 5.00 3. 60 2.70 2.40 5,20 3. 60 3. 45 4. 68 2.70 i / / 4,05 4, 80 4. 50 3.83 i J.89 3.5 0. 00%
T ok |7/ ER=1Y 12.9% F%/P/A L E 7.60 7.20 3. 60 4. 80 7.80 T.20 6. 90 9. 36 3. 60 / / / . 40 9. 60 T.80 7.64 / 6. 80 6. 80 0. 00%

) fhis | Tk FHEER 2 ) il 1. 90 o 2.80 i ) 2. 40 4, 00 — 2.70 — 2. 10 2. 80 3.40 3.20 = A 2.73 2 0. 00%
T EER 4. 65 4, 00 3. 30 2. 00 4,20 3. 90 Al 5. 40 Sual el 4. 85 San 5. 00 6. 10 a. 70 4, 20 3. 60 4,12 4,12 0. 00%
T F AR 30. 00 30, 00 30 30. 00 30, 00 30. 00 0. 00 — 30. 00 30,00 - 10. 00 30. 00 30. 00 20. 00 30.00 | 30.00 28. 00 28. 00 0. 00%

12 ER—1Y 1F LR 0. 477 = = = = — = - = = = = —= — = — — 0. 477 0. 477 0. 00%
T BER-1Y 1-10F U E 0. 467 — — — — — = — = — = = — — = — — 0. 467 0. 467 0. 00%
T ER=1Y TR ELE 0. 467 — — — — — — — — — — — — — — — — 0. 467 0. 467 0. 00%
T B 0. 487 — = = == — = = — — = — —= = = = = 0. 487 0. 487 0. 00%
T Al —1y 1FARLLF 0. 631 — — —: — = = = — — = — — = = — = 0. 531 0.5831 0. 00%
T g; e 1-10F4LL E 0511 - - - - - — - - - - - - - - - - 0.511 0.511 0. 00%
E Péi . k=4 TR ELE 0. 496 — — = = — — = — — — — —= — — = — 0. 456 0. 496 0. 00%
i gié To—ty 1-10-F 44 0. 508 — — = — = = — — — = — — = = — = 0,508 0. 508 0. 00%

20 5? O [t = 3Tk 0. 478 — — — — — — — — — — — — — — — — 0. 478 0. 478 0. 00%

21 Ti=14 L110FAR 0. 458 i = = — . — o — i — — i — — — — 0. 458 0. 458 0. 00%
? e 220°F 4% 0. 448 — = = — = = — — — = — — = = — = 0. 448 0. 448 0. 00%
? fAr—1g 1-10F 0. 500 — — — — — — — — — — — — — — — — 0. 500 0. 500 0. 00%
? el 1 3T 0. 485 — — — — - — o — — — — — — — e — 0. 484 0. 485 0. 00%
? A =1y L10F % 0. 470 — — —: — = = = — — = — — = = = = 0. 470 0. 470 0. 00%

_11_



